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QUESTION 1

Indicate whether the following statements are true or false:

(@)
(b)

()

(d)

(U]
(<)

Customary marriages are now regarded as valid marriages for all purposes.

Today, it is no longer a requirement that the persons who apply for the
adoption of a South African child must also be South African citizens.

In Jooste v Botha the court held that the father of an illegitimate child has no
legal duty to afford the child love, attention and affection if he does not have
custody of the child.

An engagement contract can be concluded orally or in writing.

In order to succeed with a claim for satisfaction for personality infringement
occasioned by a breach of promise, the plaintiff has to prove only animus
iniuriandi (intention to injure) on the part of the other party (ie the person who
committed breach of promise).

Itis generally acknowledged that marriage is a contract.

A 19-year-old girl whose first marriage ended in divorce needs her parents’
consent for the conclusien-of a-further marriage.
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r(h) In terms of our law, a marriage between a man and his ex-wife's sister (in
other words his sister-in-law) is prohibited. 1)
(i) Although a marriage is null and void if it was solemnised by a person who was
not a competent marriage officer, the marriage may be ratified by the Minister
of Home Affairs. (1)
(1)) A putative marriage is void ab initio. (1)
(k) In terms of the Maintenance Act 99 of 1998 a maintenance order cannot be
enforced before the maintenance debtor is convicted of failing to make a
payment in accordance with a maintenance order. (1)
0] A married woman is legally obliged to assume her husband’s surname. [1(;])
Answer
(a)  True!” (See the study guide p 207.)
(b) True." (See the study guide pp 220-221.)
(c)  True." (See the study guide pp 223-224.)
(d)  True!” (See Cronjé DSP & Heaton J South African Family Law [the prescribed
textbook] p 7.)
(e) False” (See the prescribed textbook p 16.)
(f) False.'" (See the prescribed textbook p 21.)
(g) False” (See the prescribed textbook p 27.)
(h)  False.!™ (See the prescribed textbook p 40.)
(i) True."" (See the prescribed textbook p 50.)
() True." (See the prescribed textbook p 55.)
(k)  False." (See the study guide p 76.)
(1) False.!" (See the prescribed textbook p 80.)
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QUESTION 2
(a) Explain what is understood by the term “voidable marriage” and name one

ground upon which a voidable marriage may be set aside. (3)
(b)  Explain what is understood by the term “invariable consequences of marriage”

and give one example of an invariable consequence of marriage. 2)
(c) Explain with reference to case law (refer to only one court case) what is

understood by the term “consortium omnis vitae". (3)

8]
Answer

@

Avoidable marriage is a valid marriage (in other words a marriage which has all the normal
consequences of a valid marriage)'" although grounds are present either before, or at the
time of concluding the marriage,""" on the basis of which the court can be requested to
dissolve the marriage"’. The party concerned, therefore, has a choice whether or not to
bring an application for the annulment of the marriage. "

A marriage can be voidable owing to the presence of one or more of the following
CETCUmStaﬂCES (one mark for any of the following)

] factors which can have an effect on consensus, namely material mistake, serious
misrepresentation; duress; unlawful influence

¢ minority

® stuprum

L impotence
. sterility

There are five possible marks for this three-mark question.

(See the prescribed textbook p 50 [definition], pp 52-54 [grounds for the voidability of a
marriage] and the study guide p 46 [activity on the factors which have an effect on
consensus and which may render a marriage voidable].)

The invariable consequences of marriage are those consequences of marriage which
come into being automatically by operation of law'"’ and which cannot be excluded by the
parties™. The invariable consequences mainly concern the person of the spouses.'”

The following are examples of invariable consequences of marriage: = ™k foran of e folowing)

¢ status of spouses

s attaining majority

. consortium omnis vitae

. maintenance/purchase of household necessaries
. matrimonial home

. parental power

® donations between spouses
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5 family name
g head of the family (husband)

There are four possible marks for this two-mark question.
(See the prescribed textbook p 57 [definition] and pp 57-81 [examples].)

(c)  In Grobbelaar v Havenga (1964 (3) SA 522 (N))'" it was said that the consortium between
spouses is “an abstraction comprising the totality'"! of a number of rights, duties and
advantages accruing to the spouses of a marriage"”. This totality comprises inter alia
“[clompanionship, love, affection, comfort, mutual services, sexual intercourse” - all of
which belong to marriage.""

OR
In Peter v Minister of Law and Order (1990 (4) SA 6 (E))'" it was said that the word
“consortium’” is used “as an umbrella word™ for all the legal rights™ of one spouse to the v
company, affection, services and support of the other"”"

There are four possible marks for this three-mark question.

(See the prescribed textbook p 58.)

QUESTION 3

One of the requirements for the existence of a spouse’s capacity to purchase household
necessaries is that the commodities bought by the spouse should indeed be household
necessaries. Which two tests/approaches do our courts use to determine whether an item is
a household necessary? In your answer you have to mention each test/approach, briefly
explain what each test/approach entails and state the name of a court case in which each
test/approach was applied. 8]

Answer

The courts use the following two tests or approaches to determine whether a particular item is a
household necessary:

The objective test or approach:"’ In terms of this test or approach, the court weighs up all the
relevant facts of the case to determine whether the purchasing spouse acted within the scope of
his or her capacity."” The court looks at the family's social background, their standard of living,
and the supply of the specific commodity that the family already has at its disposal to determine
whether the transaction indeed relates to household necessaries."' If, for example, the household
already has an adequate supply of the item, the other spouse will not be liable as the item will not
be considered a household necessary."!

The objective test or approach was applied in Voortrekkerwinkels (Ko-operatief) Bpk v Pretorius
(1951 (1) SA 730 (T)).""
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The subjective test or approach: "' In terms of the subjective test or approach the matter is viewed
from the dealer’s point of view'” and only the facts of which the dealer was aware or of which he
or she could reasonably have been expected to have been aware are taken into consideration"’.
Ifthe court adopts the subjective test or approach and a spouse purchases a specific commodity,
a dealer who is unaware of the existing supply can still hold the other spouse liable because the
court will not take the existing supply into consideration.!"!

The subjective test or approach was applied in Reloomel v Ramsay (1920 TPD 371).""

Students could earn bonus marks for the following: The concept household necessaries can be
limited or extended by the necessity or otherwise of a particular item." Whether a specific item
is a necessary or not in a specific household, is determined by the following factors: the practices
and customs in the area; the social status of the family; the income and the past standard of living
of the family." From this it follows that what might be household necessaries for one family might
be luxury items for another. "

d There are 13 possible marks for this eight-mark question.

(See the prescribed textbook pp 67-68.)

QUESTION 4

Answer this question by writing in each case only the number of the correct answer in your
answer script, for example: (a) 1.

(a) When two persons marry, a rebuttable presumption exists that they are
married in the following manner;

m with the old standard form antenuptial contract

[2] out of community of property with the accrual system
B in community of property
9 4] out of community of property with retention of profit and loss (2)

(b) Mr and Mrs Vos are married in community of property. Which one of the forms
of consent mentioned below does Mr Vos require from Mrs Vos if he wishes to
donate a painting, which forms part of their joint estate and which they hold
mainly as an investment, to their neighbour?

1 prior written consent, attested by two competent witnesses
2] written consent, attested by two competent witnesses
[3] oral or tacit consent

4] written consent without any further requirements (2)





